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Name: _______________________

Unit 10, Day 6b






Date: _____________ Period: ____

Probability Practice Worksheet
Show all work and reasoning. Use a pencil and highlight your answers.
	1. Suppose a coin is tossed 3 times. 

a) Write the sample space of all possible outcomes: 



	a)  P (all tails) = 


	b) P (2 heads) = 
	c)  P (at least 1 tail) = 



	d) P(2 tails) = 


	e) P (no heads) = 
	f) P (2 tails | at least 1 tail) =

	g) P (all tails | at least 1 tail) =


	h) P (2 heads | at least 1 head) =
	i)  P (1 head | at least 1 tail) = 

	2. Consider a deck of 52 playing cards.  Determine the following probabilities.  Recall that there are:

	· 4 suits (♠, ♣, ♥, ♦)
	· ♥ and ♦ are red, ♠ and ♣ are black

	· 13 cards in each suit (2, 3, 4, 5, 6, 7, 8, 9, 10, J, Q K, A)
	· four of each type of card (e.g., four 2’s, four 3’s)

	a) P (black) = 


	b) P(5 of ♣ | black) = 
	c) P (5 | black) = 

	d) P (♥) = 


	e) P (face card | ♥) = 
	f) P (black | ♥) = 

	g) P (2 or 3 | red)


	h) P (not face card | ♦) = 
	i) P (8 | not face card) = 

	j) P (6 of ♣ | 6) =
	k) P (queen | ♠) = 
	l)  P (10 of ♦ | ♠) =



	3.  Ellen plays the game of “Wheel of Money.”   She gets to spin the wheel twice and wins if she spins the same color twice.  The wheel is divided into 3 colors:  50% purple, 25% black, and 25% yellow. Make an area model to determine the total possible outcomes.  

a) Determine the following probabilities:

	P (BB) =

 
	P (YY) = 


	

	P (PP) = 
	P (PB) = 


	

	P (same color twice) = 


	P (BB | same color twice) = 
	

	P (black is only spun once) = 


	P (YY | same color twice) =
	

	P (at least one black spin) = 


	P (PP | at least one black spin) =
	

	b) Suppose Ellen receives $200 for winning with yellow, $100 black, and $50 for purple.

i)  What is the expected value for the game?

ii  If the game costs $35 to play, is the game worth playing?  Explain your reasoning.



	4.  Paul owns 4 shirts:  3 white and 1 green. He also has 3 pairs of jeans:  2 blue, and 1 tan.  Since he gets up in the early morning and doesn’t want to disturb his sleeping wife, he gets dressed in the dark.  Make a tree diagram to show all possible outfits when he picks one shirt and one pair of jeans.

Compute the following probabilities based on the previous problem:

	a)  P (white shirt, tan jeans) = 


	b)  P (white shirt, blue jeans) =
	c)  P (green shirt, blue jeans) = 



	5.  A bowl contains 3 apples and 7 oranges.  Cecilia randomly selects one, puts it back, and then randomly selects another.  What is the probability that both selections were oranges?


	6.  There are 10 miniature chocolate bars and 8 peanut butter cups in a candy dish.  Bob chooses 2 of them at random.  What is the probability that he chooses 2 miniature chocolate bars?

	7.  Joe’s wallet contains four $1 bills, three $5 bills, and six $10 bills.  If he selects two bills in succession, find the probability of selecting a $10 bill and then a $5 bill if the bills are not replaced.


	8.  A black die and a white die are rolled.  What is the probability that 4 shows on the black die and a even number shows on the white die?  

	9.  The host of a game show is drawing chips from a bag to determine the prizes for which contestants will play.  Of the 14 chips in the bag, 8 show “television,” 4 show “vacation,” and 2 show “car.”  If the host draw the chips at random and does not replace them, find the probability for:

a)  a vacation, then a TV

b)  two cars

	10. Keith has 3 blue pens, 6 black pens, and 4 red pens in his desk drawer.  If he selects 3 pens at random with no replacement, what is the probability that he will first select a blue pen, then a black pen, and then another blue pen?



	11.  Given 
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a)  List all possible rational zeros:
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	b)  Determine all zeros:     x = _____________

c)  Sketch a graph of 
[image: image3.wmf]()

yPx

=

.  Label all intercepts.




	12. Simplify. Write answers in 
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	13.  Evaluate.


	a)  
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	14.  Sketch a graph of 
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Degree: 

Zeros:  


	15.  Write the standard (expanded) form equation of a quartic polynomial 
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	16.  Factor completely across the rationals.

	a)  
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	c)  
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	17.  Solve for x.
	
	

	a) 
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	b) 
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	c) 
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